Unit Essential Question: What are the consequences of human innovation?

Aim: What factors were most significant to England industrializing first?

GREAT BRITAIN “CLINGS” TO INDUSTRIALIZATION
Why was Great Britain the first to industrialize?

C = Colonies 

· Enforced mercantilism on its colonies 

· [image: image1.wmf]Exploitation of colonies in the Americas created capital for investment and the idea of manufacturing for export as a source for profit
L = Large Labor Supply

· Growing population

· large numbers of skilled workers moved to cities
[image: image2.wmf]
I =
 Investment Capital 

· Entrepreneurs/Capitalists

· New economic ideas stemming from the Enlightenment (Adam Smith and The Wealth of Nations, 1776) produced new laws to promote competition.  

· People had more money to invest in businesses
[image: image3.wmf]
N = Natural Resources

· Abundance of Coal and Iron 

· During the 18th century, England was running short of wood for fuel, but it had abundant supplies of coal.  This encouraged new attention to inventions that could use coal more directly
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G = Geographic location 

· Island – coastal/river trade

· Many harbors, ports, rivers, and canals for inland travel.  
· Good shipping industry and well-kept roads made the spread of people, resources, and goods easier and more efficient  
S = Stable government 
· [image: image5.wmf]None of the wars of the 1700s took place on

British soil 




· The impact of the Enlightenment helped to 

create a culture open to technological and 

economic changes 

· Passed laws to encourage and protect businesses 

